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Question 1
39M53gboL SBLMEMEMEMO dsh396909w0 9306396900 :
Select one:

a. LObsMEEOL Yo3M3ggdoL LoBJsML 3534930

b. ®909bx9® 39305 LoBsMEOL Fo3MEgEgd0L LobdsMg dmEgdwye 3s@9dmdo Lobsmrol
24930390900l LobdsMgbg 353930

C. ©50009bxgM 653cg005 LoBsMEOL A53M(3909d0L LohdsMg dm39dEe doMgdmdo Lobsmerols
23930390900l LoBdsMgbg 35329380

d. LoBsm@ol 2930 39wgdol JodsHMEgdL dmE)dME 3sM9dmdo

Question 2

309%0L Lorwdz9wby sYIBow 0dbs gmBgBHHoMEo Mm3GHo3ol ----- doM0MOEO
396mbo.

Select one:
a. byomo
b. bsdo
C. O3
d. mombo

e. mMo

Question 3
3900560305 0¥) 300500 LObsMEIGL go9Bb0s MMTs30 3969ds. 493039 gdOLLL Tdb
SbHLOSMGAL BO MO M30L9dgd0 (0bEHIMIBRIMIBE0S, OBRMIJ30s), bmeom
60300090905bM6 MOM0IMHMNJIGEIOOLSL = 3356EHMO (BbMJDs, 253MUBOZYRY).
Select one:

True

False

Question 4
3999L50509 gobloB3MIOJd0 GHNTSBYNU:

30G™IB93A0  Answer 1| Choose...
Aol Loa®dg Answer 2| Choose...
39660 Answer 3| Coose-
L39JBHO™IYGHOO Answer 4| Choose...
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Question 5
306390 ©5 39O 25M90Mb SBLMEIEHIMO A5MOGHIbOL dohg969degdos 1 s Tz,
d9L50580b5. 29FYMBO HBYJPI30M0EIB LEOMWO 6933l IM3wgbs 235d3L, MMEs:

Select one:
a. N1 = Na
b. 1 < Mg
c. N1 <My

d. 1 = TNa

Question 6
LobsMOl 06EIbLOZMdS 3BMIM3MM30IEOS:

Select one:

a. dbmem ds3bodmmo 0bwydiool 3gd@Emmol Loowol

b. 9wgdBH®o ©sdsdwemdOL 39dEMG0L LoOEOL 379BdOL

C. B §gddOIwo 0bEydgool 39ddm®ol Loool

d. 9940 ©ddMEMdOL 39JGHMMOL LoEOWOL 3Z5MIEHOL

Question 7
3900560305 099 3300900 9OHMbs06M FoBgddo dgMbgg HoOGHOWMs 4gmIgE MmO

50 Gowol D300 gfimgds, bonwm @Gsweol dmfobsgzg Bgsdomlb - Gowool
3OMbEO.

Select one:
True
False

Question 8

™60 3039096 wo 3ol HBggdom dowgdr 0bEHIMHBIOIBE0ME LmMomby
06@®9bL0g3mdol doduoddgdo S0TBOMYdS [oMEH0E G0, Lo LZWIMS BBZMDdS BHME0S

(A Boeool bogedgs , M = 0, 1, £2, ...y,
Select one:

-(2m+ 1)

- 2m

- (2m + 1)

- (2m + 1)

a.
b.

Co

£ [ B33 b | B i | 3

Question 9
Lobsmeols oldgMLos sMol J9gyo:

Select one:


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=n_1
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=n_2
http://testing.gtu.ge/filter/tex/displaytex.php?texexp={n_1}%3D{n_2}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp={n_1}<{n_2}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp={n_1}{/le}{n_2}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp={n_1}>{n_2}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=/lambda
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=m%3D0,/pm1,/pm2,...
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=/frac{/lambda}{4}/cdot(2m%2B1)
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=/frac{/lambda}{2}/cdot2m
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=/frac{/lambda}{2}/cdot(2m%2B1)
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=/frac{/lambda}{3}/cdot(2m%2B1)
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a. 99dGH®™™Bsab0GHMEOmO BHow®ols s 60300gMYdOL bsfowszgdols MMmogOm]dgwogdol
b. 603009M9d0L bsffoenazgdols 3Ms303E0MEo MMHMOYOMJIIIdOL

C. Lobsmols s 503MWOYMYBOL bfoErs3900L FMZOGEIE0LO WMMOYMMNJIJLIOOL

d. 603009M930L bsfos39d0l gangdBHOMAsaboEHMGO »MYOHMOIOMJIg9dol

Question 10

F9009560¢05 0019 I360:

360Hds30 Lboggdol 25obMms Bgds 490 gbols dsbgz96909eol dobggom, Mmdgwos
0DM905 BHowmol LogMdol d9030M9d0m, SdoEMmd 360DBIs JoIbEMOL fomgw bLbogzgdls

9395 bogegds.
Select one:
True

False

Question 11
6030009690530 LobsMPEIOL FMNbNJIoL TJEIAO© oMLY Bobsool 0bEgbliogmds:

Select one:
a. 930M©9ds
b. 0%M©gds

C. 56 033Wwgds
d. 033wgds 39MH0MEOYYIES©

Question 12

3900560305 0099 30900 ,5M58583F30035¢0g bLbgmeols 53960 ©sdMI0IOMW0S M
BIOOL GO ol LogMIolL bboggdl s9g3wagl Lbgweol Bgpsdomo”.

Select one:
True

False

Question 13

30BN Gow©gdol D90l dooMqds 0bEIORIMIbE0Iwo LMo, 014
AOWM900 3MEoM0HYdwos -----

Select one:

a. LodMFHYggddo, HMIgdoE JIbosh gMMbgmM™MIb 45° 056 3obgls
b. MO®»0gHmBsGDMD LOdMEHYJ9d30

C. 9mm» LodMEHYgdo

d. Ubgsolibgs LodMEHyggddo


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=45^/circ
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Question 14
3900560305 099 30500 2560900 2560339990 J0dsMMEgdoL Lobsmwol 65350l
23909bMSL y39ws dgloderm d0dsMMMEgdoom - LObsMEPOL 4536935 9hHmnds.

Select one:
True

False

Question 15
3O0LES@Ol g5MEoEIboL 35B3969dgM0s M, LEXWO 3:MEsMOBEool Jmbgs Fo |
06MH0MLGHYMHOL 396Mmbols Msbsbds:

Select one:
5. 8inp, = 1

b.t9po ="

c. SN, =N

d.Po=T

Question 16

LobsWOL b Jds s®ols Jggyo:

Select one:

a. LObsMEPOLS S 6030IMYOOL b5foE539d0L 4MZ0EIF0WIO YOHMOYMJIgEIdOL

b. 603009M9d0L 6sfowszgdol gagd@Omsgbod®o MOHMOgOHMIdggdoL

C. 99dBH™™Bsx3bo@GMM0 BHowmobs s 603009Mgd0L bafoes3gdol MMHmogmmddgwogdol
d. 60300090980 650539808 FMOZ30HSEOIO MMM JIgEIdOL

Question 17
3900560305 099 930560

3900MO0E6 $3MRMI39mw0 9w9dG™MbgdoL 306930300 9690305 ©ITMI0YINOS
53999900 Lobsmol 0bEIblgMdSHBY S 56 GOV STIMI0YdIo LobdoMgby.

Select one:
True

False
Question 18
3900560305 099 30500 M) gargdGHOH™bol doge F9dgboero gbgeyos g os

99dGH®MbLS s 5GHMIBOMOHMZL TMMOL dJoL gbgeROsBY, 35006 50O 56 593L 5EH™ToL
00b60Ds30sL. ) g 96gMR05 B3TMOLO 56 HMOL 0MbOoBsGOOLIMZ0L, B5d0b gargddOmbo

OIOL YBOM oo 96gMRIH03N ©mbybY.
Select one:

True


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=n
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=/varphi_o
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=sin/varphi_o%3D1
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=tg /varphi_o%3Dn
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=sin/varphi_o%3Dn
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=/varphi_o%3Dn
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Question 19
3997L5859900 B0B0IMMO LOEWOWYJOO S LOFdMEMYdO GOHTSBYNU:

M Answer 1) Soese- =]
I Answer 2| oese- [
N Answer 3| Coose- =]

S Answer 4 Ceose- -]

Question 20
3G9 JGHOMbgd0L Lsfyolbo 3069GH03MM0 gbgeyos dom dg@os, Moy ----- Q5 56 5M0L

©59M 30009990 53990 LobsmErol 06E9blogmMdsbY.
Select one:

a. 39305 Lobsmerol Lobdoy

b. 89¢&00 Lobomeol Eowemol bog®dy
C. 65309005 Lobsmeols 9bghyos

d. 6539805 LobsmEol Lobdomy

Question 21
65 56 259m0Yyqb3dmEs HHyORMOEOL 30sd0?

Select one:

a. @JOHmb 3Joods

b. G5©0sdBHo®o 35dmlboggdol fystm
C. 35¢r30bgLi39b30Mgdgeo 930560

d. 06Mdzom®mdol 3mFs

Question 22
Q3LOMEgm 2563 FGds: dMMOL MmMd0EJO0 [oMdmoygbgb 03 HgdEGowms

3939 GHM0ME 50 gdls, LosE JgdBHOMbOL sIMBIbOL 5eEdIIMDS ----= .
Select one:

a. wdEoMglos

b. <Gl wlsbGrmmdsl (O0)

C. MOoEgLOs

d. Bmwos byeol

Question 23
095005000l 5@GHMTol 25dmLbogqgdol B3gdEHMOLmM30L, GHowmmo Gogbgzol
1 1

253mlsm3w g BOGHIMsdo ¥ = R(zz —2) , 5 Loowygs 1


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=m
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=l
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=n
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=S
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=/infty
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=/nu%3DR({/frac{1}{m^2}}-{/frac{1}{n^2}})
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=R
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Select one:

a. ®odgMAol 33035

b. s@mdol Gsombo

C. 99d@GH®mbol MmGBdoEOL Moowlio
d. 3sbzol d9dogs

Question 24
960 MMH30EH00 FgmMHgbg 9egdBHO™MboL gowoligarolsl 4sdmliboggdmwo

350l bogmdg 3560LsBO3MIRs LYHOrWo BmGOIMwom (B 560l HodgHOL

8900035, 1 s k dmgmo Gogbggdos):

Select one:

1 1
a. 1(¥1 E)
bV = lz — A:ﬂ)
C. S %(%ﬂ kﬂ)
d_”_R(z‘Lﬂ )
Question 25

astols A ©9939JAOL bLydMSEgdom dIoL AE 96962000 253Mbom3WgE RMOIMESL
593l Lobg:

Select one:

a. AL = %_ﬂm

b. AE = Amc?
. AF =3Am
d. AE = m?/Ac
Question 26

3900560305 00¢) I300500: 3oL 39PMO 9GogMos BHMO0S 08 F9domdols, MHMIGELO3
L5F0OMS BOMMZ0ID MO 6493eMbOL sTMBOYLYdS.

Select one:
True

False

Question 27

503 Lobigob 6030gMgd5d0 LobsMEPOL F9BMJIoLOL WoE7FYo LobsmErol
0b@9gblogmds €-x 96 9993060©s. MOLO BHMEos msbmddol 3mgz03096E0
(39e080 BofigMgo dbmeme Mogbgo, dsy. 1,234).

Answer:l


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=R
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=i
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=k
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=/nu%3DR({/frac{1}{i}}-{/frac{1}{k}})
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=/nu%3D{/frac{1}{R}}({/frac{1}{i^3}}-{/frac{1}{k^2}})
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=/nu%3D{/frac{1}{R}}({/frac{1}{i^2}}-{/frac{1}{k^2}})
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=/nu%3DR({/frac {1}{i^2}}-{/frac {1}{k^2}})
http://testing.gtu.ge/filter/tex/displaytex.php?texexp={/triangle}m
http://testing.gtu.ge/filter/tex/displaytex.php?texexp={/triangle}E
http://testing.gtu.ge/filter/tex/displaytex.php?texexp={/triangle}E%3D/frac{{/triangle}m}{c^2}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp={/triangle}E%3D{/triangle}mc^2
http://testing.gtu.ge/filter/tex/displaytex.php?texexp={/triangle}E%3Dc^3{/triangle}m
http://testing.gtu.ge/filter/tex/displaytex.php?texexp={/triangle}E%3Dm^2{/triangle}c

Question 28
S0LMEMEMMSE 530 LbgmEol 3H9d3gemo@m@s T gs0bods 10 - x96.

59Qgbx IO 450DIMS SOLMEYEHMHs© F530 bbgmols LMo
06393000 63:mgds (39edo RafigBgo dbmemo Mogbgo, dsy. 1.23).

Answer:|

Question 29

S0LMEMEMM 3530 bbgmeols $ga3gMo@ Mo 2o0BsM©s 7 - x 9.
50009bx 96 9993060905 dobo FoglodoeMo A5TIMBB0ZxOOL bsOOSbMdOL
99Lodsd0LO BHoe®ol bLoa®mdg. (3gedo BsfgMgom dbmewmo Mogbgo, doy. 1.2).

Answer:l

Question 30

oL YOMOL BMEMIBIJGHOL Fomgeo L BEZIMO (Fdoww ol Log™ady)
563L&O989830 (A°), vy 39Esmol Bgs3000©6 Fodmlizeols dmdsmds 2 93-
05* 35630 dmdogs h = 6,6:10* %.69, 1 93=1,6:-102, 1A4°=1.10
g, c=3-108 3/40 (398o BsfgMgom dbmeme Hogbgzo d908ga0o Labom, 3oy
1.2).

Answer:l

Question 31

0500960 Xmwos 8-10% gm@Embol gbgmyos, 0w dobo bLobdomgs
2:10% 39630. 3eobzol ddogs h = 6,6-10* x.(3 (39wdo Bsfgdgm
abmemo Hogbgo 998w9a0 Lsbom, dsy. 1.234).

Answer:|

Question 32

09500500l 5@GH™Tol  453MB039d0L BsBM356 L3gdE MOl dodgMol

LgMosdo Ms3gbo R -0l GHmeros  39-4-9 bobol dglodsdobo Eoswrmol
Lobdotg (¥) (R 9®ol ®oEdghaol dvwdogs)  (39wdo Rsfamgm dbmerme
®osbzo 99090 Lsbom, dop. 1.23).

Answer:|

Question 33

095005000l 5GHMTol 25dmLbogqgdol bsbmgsb 13gdEHMmol o0dsbol bLgmosdo
5900960 R -0b EHme0s 39-2-9 bsBol Fglsdsdobo ool Lobdomg (¥) (R
5oL MoEdIMAOL 39©B03s) (3gwdo Bsfgmgm dbmemo Gosbgo 39890
Lobom, 0og. 1.2345).


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=A^/circ
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=A^/circ
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=/nu
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=/nu

Answer:




